Al

Ol &F A

Al A

2H: HED
M olNE TR HE
chelr E2ae] e EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
rar-=inl; 21,027,186 29,978,833 A\8,951,647
= 1,723,000
[ 2,196,800
= 2,535,579
Ea 13,549,807
CH 1,022,000
ordst T2 =S 5,377,773 10,831,211 A\5,453,438
= 81,579
o 5,296,194
C2ael e 1,967,773 2,332,411 A364,638
== 3,579
o 1,964,194
C2USHE 2E 1,076,280 1,078,620 2,340
101 e124d| 185,239 158,000 27,239
M ORINZZ2NSE S 185,239 168,000 27,239
OE=2¥ M=&Y 185,239
201 er23| 112,620 112,620
01 At2teltl 19,020 19,020
Ok=z3dHl =5+ 9,000
Oz 2cd =4l 4,620
Okz2cd &Hgs & Hgst 2 2,400
OLz2&2 s & A3 2 600
Ok=z2cd AIRY 28 =5 7Y 2,400
02 S3=gl 93,600 93,600 0
Oz 2@ MRa FX2eld 12,000
OXtg, =401, I=J| =Xl 46,600
OE2E+ FXl2clH| 20,000
OXIEANAN =Xl2el 15,000
206 M=l 2,000 2,000
01 MZH| 2,000 2,000
Okzss3+8 0tA2 28 2,000
401 Al HIZ S OHbI 776,421 806,000 N29,579
01 AlZ2H| 772,641 806,000 A33,359
OEZuWE HNAIE= EHl € B
10,000,000 * 1074 4 100,000
Ok=Z XM g ARDetMAIE Hi 443,880
—JIEdIE S AHEAIE
39,712,000 #57H 2 198,560
—CEXEEA 146,220
— SIS 2 EE2E
9,910,000 * 100 2~ 99,100
ORgdotd & #Hosd JIZ2HE =8 E9 50,000
OkzY¥ N=HY 128,761
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SA: AT
M NS S2HA BE
Rl 22t A EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Okz N&g== HMAHEH 50,000
03 Al 2 0HYI 3,780 0 3,780
Ok2 =M & AnZotMAIE FH 3,780
C2NSHE 2H(EX) 7,073 7,471 A398
== 3,579
o 3,494
101 e124d| 7,073 7,471 A398
[ 3,579
T 3,494
M ORINZZ2NSE S 7,073 7,47 A398
OusSg A 212 7,073
= 3,579
= 3,494
He s 2 239,500 239,500
201 er23| 41,500 41,500
01 AtR2t2|HI 6,500 6,500
OM&XY SAHI 6,500
02 s3=gbl 35,000 356,000 0
ON&E1 |X2eld] 5,000
ON&Dl & &) K2l 30,000
206 MH=Hl 90,000 90,000
01 MZH| 90,000 90,000
ON4&Es g3tzts & 4= 78 85,000
O=H=0Ll 7 2502 %20,000% 5,000
302 OI==H a2 &= 86,000 86,000
02 2t s ES2a=3 86,000 86,000
OMEXY 2I2d] S 86,000
307 lztol & 22,000 22,000
28= 22,000 22,000
ONE XA 280t 22,000
Adady et 5,160 5,160 0
202 04dl 2,660 2,660
01 =LHOHI 2,660 2,660
Oy g 2,660
203 =4l 2,500 2,500
03 A=A 2= 2,500 2,500
OAHLHE AIHFX 2,500
S8 JHES NZA 581,760 861,660 A279,900
201 er23 | 58,660 58,660 0
01 At2teltl 7,660 7,660 0
OHES + 1,000
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SA AL
M NS S2HA BE
Chel: 222 A EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJtzsS Jl=d g5 & Hs 2
,0003H 900
OJIz2s |X2el S4| 5,760
02 S3=gHl 51,000 51,000 0
O3d&xg dlIRs S 16,000
Ogd2xd sXl2el 5,000
OJtzs "Al2el 20,000
O&siteg FAl2cl 10,000
206 M=l 150,000 150,000
01 M=8l 150,000 150,000
OJtzs RANE+ T # 150,000
401 AIEHIZ R 0HYI 373,100 653,000 A279,900
01 Al&H| 373,100 650,000 A276,900
OJt=28 A4 & JUlAe 200,000
g4, 28X NSIMY =S EXSA 158,100
OgxZ HJl= Xel 15,0002 *1,000H 15,000
=S FMe 2 38,000 58,000 220,000
201 fer=3| 8,000 8,000 0
01 At 22|l 8,000 8,000 0
O=g ¢ SJle=+8 S 8,000
401 Al HIZL S 0HYI 30,000 50,000 /20,000
01 Al&H| 30,000 50,000 A20,000
OHIHEE==Z A=Al 0DI=2EAl 0 30,000
=221 X3AAMS 20,000 30,000 10,000
401 AlEHIZ S 0HbI 20,000 30,000 10,000
01 Al&H| 20,000 30,000 10,000
OXIEAAN =t=AS 20,000
Czetd e 3,410,000 8,498,800 /5,088,800
== 78,000
o 3,332,000
SHEEZ Y X2 1,455,000 1,755,000 A300,000
201 =3 5,000 5,000 0
01 AtR2t2lt] 5,000 5,000 0
O=%A Rz K= 5,000
401 Al HIZL 01| 1,450,000 1,750,000 A.300,000
01 Al&HI 1,445,050 1,738,660 A293,610
Ok=20I=EX 100,000
OZdH WA= sHETZS LIS AL 199,280
Odle 232 &4E0ts MUZ2IHE S A 498,200
O2Y E2c2l sHEZZ HZHSAM 548,020
O2=olrxcld MUZ HESA 99,550
03 A2 2 0HYI 4,950 11,340 26,390
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2A:

rar=;

M A)IE2 TASSH 24
S DADIEAIE =E (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CH 1,022,000
SADIEAIE &E 5,275,959 8,115,700 N2,839,741
[ 1,799,800
= 300,000
= 2,154,159
CH 1,022,000
TAIAIE 2 265,200 63,200 202,000
101 e124d| 6,000 6,000 0
M ORINZZ2NSE S 6,000 6.000 0
OZAH=EAE HMEHY 22
2,000,000 #32] 6,000
201 er2 3| 43,000 43,000
01 AtR2telHl 43,000 43,000
OzZ&clHE & S8HF =29 40,000
OgaZiEeds =Y 3,000
202 04 4,200 4,200
01 =LHO LI 4,200 4,200
ONLEBIL % Z2eHE SXEA O
Bl 4,200
308 AtXIEMSOIH 12,000 10,000 2,000
18 SIS0t HAS A 12,000 10,000 2,000
OZ&clAHE 28 M2 12,000
401 Al HIZ S OHbI 200,000 200,000
01 AlZ2H| 200,000 200,000
Oos8¥2AcIHE +=EEY 200,000
SAUTAAHEEZ IHESA 506,569 354,000 152,569
401 AIEHIZ R 0HYI 506,569 354,000 152,569
01 Al&HI 502,569 350,000 152,569
OZHEEZ HESAH 252,569
OZHEEZ RAE 200,000
Oz AHEE==Z DI=EX Y 50,000
03 A& THYI 4,000 4,000 0
OZHEEZ e & X2+ 4,000
AT TAIHEZEHAH(PIS) TR+ 38,000 38,000 0
201 2egh=3| 38,000 38,000
01 At2t2lt] 38,000 38,000
OSAZ TAIHIE 2N A DBt &zt 22,000
OIS 2383l =Xl 16,000
8% NAEAZ LA 42,000 62,000 /20,000
201 er=23y| 2,000 2,000 0
02 S3=gHl 2,000 2,000 0
OX&EH SI1FeJ| 8JI=s 2,000
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2A:

rar=;

M M|ES CAIZSH XY
Sl TADIBAIE &5 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 10,000 10,000 0
02 2B YA HE L 10,000 0 10,000
O NENE ISHH 28 A& 10,000
401 AIZHIXL S THE 30,000 50,000 /20,000
01 A28l 30,000 50,000 /20,000
O8MBAEHE FAE=AE 30,000
SAHY Dlgtxd 371,000 348,000 23,000
307 @I2t01 & 271,000 248,000 23,000
05 2IR”IRIE = 271,000 248,000 23,000
OZAIHMXIHHE 212t S 271,000
401 Al HIZL 201 100,000 100,000
01 Al&H| 100,000 100,000
OZAITHS XA 100,000
gas & 2 SECIAe 2] 31,490 31,490
401 AlEHIZ S 0HBI 31,490 31,490
01 AlZH| 31,490 31,490
OZ& & sSR! 2| 31,490
2= STYUFE AZ AL 1,022,000 3,000,000 A1,978,000
CH 1,022,000
403 X HMSAH=01H 1,022,000 3,000,000 A1,978,000
CH 1,022,000
02 S 2SS0t et =& 2 EF A I 1,022,000 3,000,000 A1,978,000
O+ Sl g X 1,022,000
CH 1,022,000
X7 ZAINHSE A 2,999,700 1,794,500 1,205,200
[ 1,799,800
= 300,000
o 899,900
401 Al HIZ S OHbI 1,919,700 1,194,500 725,200
[ 719,800
= 300,000
o 899,900
01 AlZH| 1,919,700 1,194,500 725,200
O2xX7 ZAIMUSESIALE 1,919,700
[ 719,800
S 300,000
= 899,900
403 AXIEHMSAH=0ld 1,080,000 600,000 480,000
= 1,080,000
02 SIS0t =S A A 1,080,000 600,000 480,000
O+ ZAMAS LA H A Y] 1,080,000
s 1,080,000
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2A:

£
M SYMA DB =5
ol SQl=E MED|UIEA SEEED)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S JIBHAH == 10,313,610 10,961,374 AB47, 764
= 1,723,000
= 397,000
== 2,154,000
o 6,039,610
SYsE dElgtxy 10,313,610 10,961,374 ANBAT, 764
= 1,723,000
[ 397,000
= 2,154,000
= 6,039,610
AF X =clAlE JHE = 913,600 908,280 5,320
201 Ler23| 43,600 38,280 5,320
01 At2teltl 40,600 35,780 4,820
FclAlE Mol ZHlaxtz
660, 0002 *60CH 39,600
OJlgtxd ge=d 1,000
02 S52g4l 3,000 2,500 500
Ol RA=E= 3,000
401 AIZHIZ SO 870,000 870,000
01 Al&HI 865,590 865,590
el AE (M==Xl, 2=F, Bi==Xl, 2],
2 5) g2 ¢ Fil 695,590
OzZ&el M=Kl &1 & | 120,000
OJISHEALS 50,000
03 Al 20HHI 4,410 4,410 0
OAFJX F=clAlEHE+ 4,410
sPES FA2c 85,000 88,000 A3,000
201 Ler=23 | 15,000 18,000 A3,000
01 At22te|Hl 15,000 18,000 A3,000
OsgEs =2EA= 15,000
401 AlZHIZ SO 70,000 70,000
01 A28l 70,000 70,000
Osg8% olJtAE M=2el & Xote=g
EEIN; 70,000
e ANE=S HES 1,873,160 1,792,844 80,316
401 AIEHIZL S0 1,873,160 1,792,844 80,316
01 Al&H| 1,866,596 1,786,389 80,207
o2y FAE=+ 543,436
O2F 0IsSA&(2z2, 283 3) |2
]l 200,000
Ox~E2AZNL 53,160
Oosgadn 540,000
Oy HomMa 450,000
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SA AL
M SYMA DB =5
ChSl: SoisE ME)|BIEA (el mel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXIXIot=2EAL (BER2ZY)EX
15,000,000 *27H 2~ 30,000
OZdH= 50,000
03 A& S THYI 6,564 6,455 109
O2ZME A2 HES
1,823, 160,000& »0.36% 6,564
SEMNEAY 150,000 100,000 50,000
402 QIF X201 & 150,000 100,000 50,000
01 QI X2 AL E A (KEMITHE) 150,000 100,000 50,000
OSEMEAML 150,000
Sti+==2 ZHIA 600,000 700,000 100,000
401 AIEHIX S0 600,000 700,000 100,000
01 AlZH| 600,000 700,000 100,000
O8ti+==2 FHIAMEZ 600,000
St i E =00 321,250 321,250 0
= 257,000
[Ea 64,250
401 AlEHIZL SO 321,250 321,250 0
= 257,000
= 64,250
01 Al&H| 318,937 318,937 0
Ost&iibl S0 318,937
= 257,000
[Ea 61,937
03 AIESTHYI 2,313 2,313 0
OBILTHEl B4
321,250,000 0.72% 2,313
a2 SIIEAIE SHIAY 50,000 50,000 0
& 50,000
401 Al HIZ S OHbI 50,000 50,000 0
s 50,000
01 Al&HI 50,000 50,000 0
Od= 2480ts Sti==2 A 50,000
= 50,000
2|8t FHEHIAY 25,000 25,000 0
401 AIEHIZL 20 25,000 25,000
01 Al&H| 25,000 25,000
OgJlegt fAl2el 25,000
NE=222HL(HEALD) 1,200,000 1,000,000 200,000
401 AIEHIX R0 1,200,000 1,000,000 200,000
01 A28l 1,195,680 993,700 201,980
OXES=SLMLAIS (HE) 1,195,680
03 Al = THHI 4,320 6,300 1,980
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S AT
M YL DB =S
Chel: mimE MED|BIEA (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| OxEsENUAA(E) 4,320
INHSERZ SHEIAI (HEAI) 228,000 428,000 200,000
401 Al HIX S0 228,000 428,000 200,000
01 AlZH| 226,358 424,918 198,560
OJIAHSEHZ LA 226,358
03 AlESTHYI 1,642 3,082 21,440
OIIASBHZ ALIAS 1,642
A2l A (M EALY) 1,570,000 1,700,000 130,000
S 1,256,000
= 314,000
401 Al HIZL 201 1,570,000 1,700,000 A130,000
= 1,256,000
o 314,000
01 Al&H| 1,564,348 1,693,880 A129,532
OAlZ ==l Al 2 At 1,564,348
= 1,256,000
o 308,348
03 A& S CHYI 5,652 6,120 A468
OAlZs=clAIEHE AL =& 5,652
B==JH & AL 2,316,000 2,200,000 116,000
= 1,466,000
== 680,000
o 170,000
401 AIEHIZ SR 0HYI 2,316,000 2,200,000 116,000
= 1,466,000
= 680,000
o 170,000
01 AlZ2H| 2,316,000 2,192,800 123,200
OWUEXIF bH==IH AL 1,466,000
= 1,466,000
OLDIXI7 A2 Bi==IHE AL 850,000
= 680,000
o 170,000
Mol &M +=Al SHIA 794,000 1,528,000 AT734,000
= 397,000
= 159,000
o 238,000
401 AlZHIZ SO 794,000 1,528,000 734,000
[ 397,000
= 159,000
[Ea 238,000
01 AlZH| 788,997 1,522,499 AT733,502
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S AT
M SYMA DB =5
ChSl: SoisE ME)|BIEA (el mel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMoHS M=K ZHIAE 788,997
= 397,000
== 159,000
[Ea 232,997
03 A2 CHYI 5,003 5,501 Vavile s}
OMaHAZEM==X EHIAY =&l 5,003
s FHAXS AIE S WA 30,000 120,000 80,000
= 9,000
o 21,000
401 AlZHIZ S OHYI 30,000 120,000 /90,000
s 9,000
s 21,000
01 AlZ8| 30,000 120,000 290,000
Ot HAXS A E=3 HE A 30,000
[ 9,000
T 21,000
== 2XE2 At 157,600 0 157,600
403 AXIEHHSAH=0l 157,600 157,600
02 SO 2SOt = & P EF A I 157,600 157,600
O&ANKIS U=& ZXFel At 157,600
2= £25A 5,100 5,100 0
oo & Y= RS SSAFAEY 5,100 5,100 0
S35 N3AAMS 5,100 5,100 0
201 el 3,000 3,000 0
01 At22t2lt] 3,000 3,000 0
OEA7Y, BN S 3,000
202 04l 2,100 2,100 0
01 =LHAHI 2,100 2,100 0
Os&sd= A& 2,100
Y 2AAH (AL 54,744 53,448 1,296
Jl=3H 54,744 53,448 1,296
240 D=3 54,744 53,448 1,296
201 er23| 24,624 23,328 1,296
01 At2tltl 24,624 23,328 1,29
O=4tl SH0at 4,930
SHOl A 19,694
202 04| 24,960 24,960
01 2K 24,960 24,960
Oos A At 24,960
203 gF=4| 5,160 5,160
M EASHLRFAH 5,160 5,160
OHEN FLAE2E 5,160
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